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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
300 ; 1
250 A b :
N 1
200 / \ A -0, ;A“ y !
150 8/ ol adaleasoleacacenal aeaaad
oee Z 1
100 \ / ml’/‘ A ” ' : —— se‘tVI_ETcI -
\ /.w u o/ \/ V : —0— setVI_fgRec
50 - - o & o " | ¢ I —@— setVI_VN a
. S90S e= = == o &0 | —8—  siSetVl
[ S——————— ! I I -
0 10 20 30 40 50 60



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Warning:\ co

[PHC', "FVIPH' ] is missing

10

20

30

40

50




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-1

BfiE) | BB (F) | EdiE (EHA/HK) [ XR R

07:50 288 150.0 FR| FHA@O7:50 KRENFZF (ARFAIEEES)
08:15 288 150.0 FR| FHA@O8:15 KRENFZF (KRFAAIREES)
09:05 288 150.0 FA| FnHA@09:05 AFFEF (KAERE)
09:55 288 150. 0 FA| FnHR@09:55 KHEIEF (KRFEERES)
10:35 288 150.0 FR| FHA@10:35 KRENFZF (KRAAIRES)
11:10 288 150.0 FA| FnHR@11:10 RFFEF (KAERKSE)
11:45 288 150.0 FR| FnHA@11:45 KRFEF (KRAERKSE)
12:20 288 150.0 FR| FHA@12:20 KREFZF (KRFAEES)
12:55 288 150.0 FA| FnHR@12:55 RFFEF (KAERKSE)
13:30 288 150.0 FA| FhHR@13:30 KRFMIEHF (RALER)
14:05 288 150.0 FR| FHA@14:05 KRENFZF (KRFAEES)
14:40 288 150.0 FR| FHA@14:40 KREIZF (RAEREHS)
15:20 288 150.0 FA| FhHR@15:20 RHFMIZHF (RALESR)
16:05 288 150.0 FR| FHA@16:05 KRENFZF (KRFAIEEES)
23t14032.0 (14%) 2100. 0 32 #KEC: 2080.0, PH: 5.7

##[EKECE (2040. 0 vs 3660.0) 35
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P3-1

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK EE

07:55 278 150.0 [Z=| 1BRig@07:55 Bzh (KREERESE)
08:25 278 150.0 (Z=| {Ri%@08:25 HE (FEAHEEHSE)
09:35 278 150.0 (& =| 1BRi&e09:35 Bzh (REERSE)
10:20 278 150.0 [Z=| 1BRiB@10:20 Bzh (REERESE)
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15:55 278 150.0 = RRiB@15:55 B (RFAEESE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.8

HERRHEME STEAERTS (179.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRGERL145. 0 ml.
#HERECE (2163.0 vs 4217.0) 5
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P3-1

BrE) | GEBAK @) | ERE(EAH/K (XS R

08:00 278 150.0 5| {Ri%@08:00 Bz (FAAERSE)
08:25 278 150.0 = {RRiB008:25 B (FRFAEEE)
09:30 278 150. 0 E 1BRi&@09:30 Bzl (RAEREE)
10:20 278 150.0 El BRi%010:20 Bz CGRAEREE)
11:10 278 150.0 El BRige11:10 Bz GRAEESE)
11:50 278 150.0 Sl {Rige11:50 B3 (REAERSE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
13:15 278 150.0 E| {Rige13:15 Bah (RE{EREE)
13:50 278 150.0 | Ri%e13:50 B (REAHRESE)
14:55 278 150.0 |Z=| 1BRige14:55 Bzh (REERESE)
24t 2780.0 (100%) 1500. 0 EWHKEC: 2080.0, PH: 6.0

HERRHEME STEAERTS (179.0 : 136.0), AIgEHF—RE XAH45
LORGEBRETC (278) 5THA (306. 0) N FF, FIAEH T % 1@ [E)#iRES % XERT
BRIASERRIERE136. 0 ml.

RERSEBIEC (2410.0) 5igZEEC (2000.0) REK K, BHHE
#[ERECE (2410.0 vs 4550.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=52 (2025-05-20)

FRV (ml d-1)

O e e e ) ) T g S RS S Ip—— 3000
V1, V&SRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
- 2000
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50 - 1000
20
Warning: lcol [FVI',| "FVO’'] missing 20

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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200 ByWoF}/ @D54 01:37: ET=1178 Fg=1500.0 Ro=410.0
: - 2000
1 4
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1
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0.4 1
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1600 3
—_— 4

[ ] | _obs
—@— PPFD obs




28.

27.

27.

29,

28.

28.

27.

27.

28.

27.

27.

26.

26.

30 A

29 -

28 -

27

26

25 —o—

M_E

T T T
600 700 800

m=630,m FV0=0

T T
400 500

T
900

—&— M_E

0 -

655 6&0
m=815,n FV0=0

——

5_

0_

M_E

850 8é5
m=510,n FV0=0

815

0
——

i

M_W

510 515 520

29.

29.

28.

28.

27.

30.

29.

29.

28.

28.

27.

27.

217.

26.

26.

25.

25.

m=430, FV0=0

29 A

28 -

27 A

26 -

25 ~

M_E

{

o

430

435
m=675,n FV0=0

T
440

——

M_E

6é0
m=880,n FV0=0

T
685

——

M_E

880

8é5
m=575,n FV0=0

890

——

M_W

575

580

585

30.

29.

29.

28.

29.

29.

28.

28.

27.

27.

27.

27.

26.

26.

25.

25.

24.

m=510, FV0=0

M_E

5%5 5é0
m=720,n FV0=0

——

M_E

725 730

28 A

27 A

26

25 A

24 - ®

M_W

600 700 800

m=630,m FV0=0

400 500

900

——

M_W

630 635 640

29.

29.

28.

28.

27.

29.

29.

28.

28.

27.

21.

27.

26.

26.

25.

25.

24,

24.

27.

21.

26.

26.

25.

25.

m=573, FV0=0

——

M_E

5é0 5é5
m=770,m FV0=0

——

M_E

7%5 7é0
m=430,n FV0=0

5_

0 -

——

Hir

M_W

{

435 440
m=675,m FV0=0

430

——

M_W

675 680 685




m=720, FV0=0

27.5 A

27.0 -

26.5 -

26.0

25.5 -

25.0

—o—

M_W

720

T
725

730

m=770, FV0=0
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P3-1

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:45 278 150.0 FA| {Ri%@07:45 Bz (GRAEESE)
08:10 278 150.0 |[Z=| 1Ri%@08:10 Bzh (KAL)
09:15 278 150.0 | =| 1Ri%e09:15 Bz (kAEREE)
10:05 278 150.0 |Z=| 1BRiZ@10:05 Bzh (REERESE)
11:00 278 150.0 El BRi&e11:00 Bz CGRAEREE)
11:45 278 150.0 =l {Rige11:45 B3 (RAERSE)
12:20 278 150.0 Sl {Rige12:20 B3 (RAERSE)
13:00 278 150. 0 F BRi%e13:00 Bz (GRAERRE)
13:35 278 150.0 E|  {Rig@13:35 B3h (RE{EREE)
14:20 278 150.0 = Ri%e14:20 B (REAREEE)
15:10 278 150.0 El BRige15:10 Bz CGRAERESE)
15:50 278 150.0 F[ BRige15:50 Bz (GRAERE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 142.0), AIgEMF—RE XAH45
BRI\ SEPRERL142. 0 ml.

BEREBIEC (2580.0) 5iZTEEC (2000.0) HEILKA, BFHE
HEIRECE (2580. 0 vs 4441.0) 05



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=51 (2025-05-19)

3000

R S it e alal
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2506

100 - 2000
1432 1600 417

1200

50 38 - 1000
20

Warning: lcol [FVI',| "FVO’'] missing

200 3 —— ME $30
maxM
R o L =l L im B S S N SSl Sl S S pmai | s S IS S mm e S E eSS S e - 28

- 26 El

100 -

50 A - 24

22

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

1
300 - Bylnit @54 01:38: ET=1429 Fg=1854.0 Ro=510.0

1
- 2000

200
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> | - 1000

100 -
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200
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1
ByWoFy @54 01:38: ET=1417 Fg=1800.0 Ro=454.0 ° - 2000
200 - , :

100 E ) > N - 1000
i |
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ET (ml/hr/plant)
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0.2~

1808 3

—_— 4
[ ] | _obs

1000 ~ —@— PPFD_obs

500 A

60

40 - [ ] RH_ObS
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=430, FV0=0 m=465, FV0=0 m=535, FV0=0

29.0 - o— mE | 2907 o ME| 255. — NE
28.5 -
08,0 28.5 - 28. 0 -
27.54® ® L J
28.0 27.5
27.0 -
i 27.0 -
26.5 27 5
T T T T T T T T T T T T T T
600 800 1000 442.0 4425  443.0 443.5 444.0 465 470 475 535 540 545
m=590,m FV0=0 m=630,m FV0=0 m=670,m FV0=0 m=705,m FV0=0
28.01 —o— ME | 285 —o— ME —o— ME —— ME
29.0 - 29.0 -
27.5 - e
27 04 28.0 -
: 28.5 28.5
26.5 -
27.5 -
28.0 - 280 -
26.0 -
27.0 - i
25.5 - 27.5 27.5
25 0 B T T T 26 5 T T T 27 0 T T T T T T T T T
590 595 600 630 635 640 670 675 680 705.0 707.5 710.0 712.5 715.0 717.5
m=740,m FV0=0 m=780,m FV0=0 m=830,m FV0=0 m=880,m FV0=0
29.5 30.0
—— ME —— ME | .o, —— ME —o— ME
29.0 - 29 0 4 29.5 -
28.5 -
28.5 - 28.5 - ¢ 29.0
28.0 -
28.0 28.0 27.5 4 28.5
i 27.0 - i
27.5 - 27.5 28.0
740 745 750 780 785 790 830 835 840 880 885 890
m=925,m FV0=0 m=970,m FV0=0 m=1010m FVO=0 m
30. 0 A ~ M_E - M_E 30. 2 o M_E 28 A
30.0 - 30 0 -
29.5 27 -
29,5 - 29.8 - _ : t
29.0 1 29.6 A 26 - im“ : ‘
29.0 - e
9.0 29. 4 - \
- 25 -
28.5 085 29.2 -
29.0 - 94 - i
925 930 935 970 975 980 1010 1015 1020 600 800 1000
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P3-1

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

08:25 278 150.0 |Z=| 1BRi%e08:25 Bzh (KEERESE)
08:55 278 150.0 (& =| 1BiB@08:55 Bz (FRHAEREE)
10:30 278 150.0 | =| 1Ri%@10:30 Bz (kAEREE)
11:50 278 150.0 Sl {Rige11:50 B3 (REAERSE)
13:00 278 150.0 |Z=| {Rig@13:00 B3h (RE{ERSE)
14:15 278 150.0 (Z=| 1BRige14:15 Bzh (REERESE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

FEREHER 2 STEELRF (179.0 -

ERIASSPRIERL142.0 ml.

# 8] /KECZE (2660.0 vs 3913.0) RS

142.0), AIEERT—@E XAH5

FEREEBEC (2660.0) 5i&EEC (2000.0) RERKX, BH/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=50 (2025-05-18)

L e e o I e T R e e e L 2000
VI, VO/¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1500 1432 L 1500 <
100 - 1200
020 136
50
20 40 - 500

Warning: lcol [FVI',| "FVO’'] missing

200 A

150 +>

100 -

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=430, FV0=0 m=475, FV0=0 m=570, FV0=0

08, 5 —— ME —e— ME | 290 —o— ME
29.0
28.0 - 28.5 -
27.5 1
28.5 -
28.0 -
27.0 1
26.5 - 28.0 - 27.5 1
26.0 -
27.0
T T T T T T T T T T T T T
400 600 800 1000 430 435 440 475 480 485 570 575 580
m=650,m FV0=0 m=720,m FV0=0 m=795,m FV0=0 m=880,m FV0=0
29,0 4 29.5 A
29.0 - ME : —-o— ME —— ME | o] —o— ME
29.0 -
28.5 - 28.51 29.0 -
28.5 -
28.0 28.5
28.0 - 28.0 -
)7 5 28.0 -
27.5 ‘ 27.5
27.5 1
) 27.0 + 27.0 -
27.0 27.0
T T T T T T T T T T T T
650 655 660 720 725 730 795 800 805 880 885 890
m=940,m FvV0=0 m m=430,m Fv0=0 m=475,m FvV0=0
- ME 98 | —— MW 27 1 —— MW —— MW
30. 0 1 28.0
29.5 27 26 27.5
29.0 - 26 - 27.0
25
28.5 7 95 26.5
28.0 -
24 - 24 - 26. 0 A
940 945 950 400 600 800 1000 430 435 440 475 480 485
m=570,m FV0=0 m=650,m FV0=0 m=720,m FV0=0 m=795,m FV0=0
28.0 1 —o— MW . —o— MW —o— MW —o— MW
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27.0 1 27 1
27.0 1
26.5 -
26.5 4 26
26.0 26
26.0 -
25. 5 -
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25.0 - 25 1
25.0 1
570 575 580 650 655 660 720 725 730 795 800 805
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